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CSIR NET Part A Mock test - December 23
- 1)The product of two numbers is 5376 and their HCF is 16. Find the largest number.
A)112 B)212 C)256 D)128
2)What is the least number which when divided by 16 and 18 leaves 9 as remainder in
each case, but when divided by 27 leaves no remainder.
.
A)639 B)729 C)541 D)873
é 3)Three numbers are in ratio 2:3:4 and their LCM is 60. Their HCF is
g B)10 C)15 D)20

4)Ratio of money with A and B is 2:3 and that with B and C is 3:5. If the money with B is

t‘ 120, how much money does C has?
A)50 B)150 C)200 D)250

5)income of A and B are in the ratio 7:9, and their expenditures are in the ratio of 3:4. If
‘0 each of them saves 800. Find the income of A

A)2000 B)2400 C)4800 D) 5600

the first year, 20% for the second year and 40% for the third year. What will be the

k 6)Ram joined a company in 2000 and got 1500 as a salary. Salary increased by 10% for
I salary after 3 years?

A)2440 B)2660 C)2772 D) 3600

7)In an exam, if a student gets 135 then he scored 25% less than the pass mark. If the
9\ pass % is 60, then find the total mark of the exam.
A)250 B)300 C)375 D)420
8)10% of voters did not cast their vote in an election between two candidates. 10% of
the votes polled were found invalid. The successful candidate got 54% of the valid votes
and won by a majority of 1620 votes. The number of voters enrolled on the vote list was

A)21500 B)22000 C)25000 D)28000



9)The average age of 8 men is increased by 2 years when two of them whose ages are
\{ 21 and 23 years are replaced by two new men. The average age of the two new men is
A)25 B)30 C)35 D)40

10)The ratio between the presnet age of P and Q is 6:7. IF Q is 4 years older than P,
? what will be the ratio of ages of P and Q after 4 years?

A)7:8 B)6:9 C)10:13 D)2:3

2 hours 15 minutes. After that, the speed was reduced to 60 km/hr. If the distance

11)Anna left for city A from city B at 5.20 am. She traveled at the speed of 80 km/hr for
A b between two cities is 350 km, at what time did Anna reach city A?

A)9:45 B)10:25 C)10:45 D)11:00

12)12 men complete a work in 9 days. After they have worked for 6 days, 6 more men
/] join them. How many days will they take to complete the remaining work?

A)2 days B)3 days C)5 days D)6 days

13)In what ratio must a grocer mix two varieties worth 60 a kg and 65 a kg so that by
selling the mixture at 68.2 a kg he gets a profit of 10%?

A)2:3 B)3:2 C)1:3 D)3:4

14) The perimeters of two similar triangles are 25 cm and 15 cm respectively. If one side
of first triangle is 9 cm, what is the corresponding side of the other triangle?

A)3 B)4.2 C)5.4 D)8

m/sec. If the lamp is 3.6 m above the ground, find the length of her shadow after 4

15)A girl of heigh 90 cm is walking away from the base of a lamp-post at a speed of 1.2
q a seconds.

A)1.4 m B)1.6 m C)2.2 m D)2.4m



